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These are only guidelines, as parents you
know what is best for your child.
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numerous dangerous\snervous Qadventurous o

N 4 =24 Word L -

(1)
famous  marvellous 4generous chumorous
2jealous ; poisonous = enormous Sridiculous | disastrous courageous fabulous treacherous

A erte the missing letters.

1. fam __ 5.gen____ous 9. num ____ Ous 13. ne____ __us
2. _ous ®6.enor_______ 10.di__astro____ 14.f____ lous
3.marvell ___ 7.hu_____ous 11.da____ _ rous 15. adventuro ___

!
! 4. p_____ _onous 8 ridc  _us 12.cou____ geous 16. treach ____ ous

/=, Make 3 small words from each word below. You can mix up the letters.

1. jealous 2. nervous 3. generous 4. fabulous 5. enormous

seal

|

1. Very silly. F | | ‘ :
3. Willing to give more | \i |

than others.
5, Envious.

6. Huge.
7. A complete failure.

Opposite to safe.
“Anxious.




’( L aive theoe teslo
LN
Q 5)/( 0{5‘ /ﬁ% fmﬁ{' Fl'OLMQS

ane b\DM&& > HACM h/te. So\uh'ws
are on Phe neak poge -

HOLV( o bif

of L wil, Phew dowt fo £ I
QTD (ﬂwx Je ;ue;)v'o«—-? ot ?(ou‘f be.

aﬁﬂmﬁ( Jo muke mg’/’a){es. (we oqu
o by g W

-7 T

I wold  sugcekt ek gou o do ove



Test 17 Data 1

. What is th f8and 67 2 =2

Wi !s e average of 8 and 6 000000000
; at is the average of 9 and 77 0000000
‘@ Joan has 7 stamps, Artil has 11 and Sandi has 6.
What is the average number of stamps?

. Frog A jumped 9cm, Frog B jumped 5cm and Frog C jumped
7cm. What was the average distance jumped?
. Find the average of 5, 6, 8 and 9.
. The average cost of 5 CDs is €6. Find the total cost.
This table shows the number of goals scored by Red Rovers in
8 league games.

Game 1 Game 2 Game 3 Game 4
3 2 6
5 1 2

Goals scored in home games 5
Goals scored in away games 4
7. What was the greatest number of goals scored in a game?

8. What was the least number of goals scored in a game?
4. What was the average of goals scored in home games?
10. What was the average of goals scored in away games?

Test 18 Data 1

1. f’f '\F( The total height of 3 flowers is 93cm.
Find the average height of a flower.
2. The average of three numbers is 9. Two of the numbers are
8 and 12. What is the third number?
3. What is the average of 4, 6, 8, 10 and 127

4. The average weight of 4 girls is 25kg.
What is their total weight?

This block graph shows the favourite fruit of some children.
5. Which is the most popular fruit? 10
6. Which is the least popular fruit?
7. How many like apples or oranges?

8. Find the average of those who
like plums, pears or oranges.
q. Find the average of those who
like bananas, grapes or apples.
10. How many children are there
in the class?




( Test19 Revision Answers /X

1. Round 46 872 to the nearest ten. (1. | B
2. From 27 687 take 2005. (2. B D
3. What is the value of the 3 in 38 9652 : (3. B D
x 4. Which is closer to 60 000: 61 700 or 59 1007 (4. B 8
5. Add 40 to the sum of 80 and 70. [> J O
.; 6. 12996 + 7 =[?] (6. ) D
‘ 7. From the sum of 60 and 90 take 40. (7 D D
Gaelic game ottendoncﬂ Soccer game attendance .
4008 3997
8. How many people in total attended the two games? a B D
9. How many more people attended the Gaelic game than
the soccer game? (4. B 8
10. Maria is 10 years old, Jane is 12, [ 10. J D
Neasa is 8 and Deirdre is 6.
What is the average age of the girls?

-

Test 20 General Revision
. Is this (a) an obtuse angle, /
(b) a right-angle or (c) an acute angle?

i) Sarah spent } of her money buying this teddy.
% How much money had she at first?
. (tof 24) + (} of 30) =]
. Write 1-27 metres as centimetres.
. . Fiona had 48 stamps. She gave 0-25 of them to Jason.
| How many did she give him?
. How many metres are there in 0-4 kilometres?

Sweets are packed in bags of 7.
How many bags are needed to pack 56 sweets?

=
‘ ‘ 6 apples cost 72 cent.
How much should 5 apples cost?
- Martin is Tm 58cm tall. Tom is 149cm tall.

How much taller is Martin than Tom?

‘;»,;,0’ This clock is 13 minutes fast.
iy ‘What is the correct time? (pm)
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Test 17 Data 1

. What l‘: the average of 8 and 6:? 500000000

. What is the average of 9 and 77 00D®O0D
. | Joan has 7 stamps, Artil has 11 and Sandi has 6.
¥ What is the average number of stamps?

. Frog A jumped 9cm, Frog B jumped 5cm and Frog C jumped

7ecm. What was the average distance jumped?
5. Find the average of 5. 6, 8 and 9.
. The average cost of 5 CDs is €6. Find the total cost.
This table shows the number of goals scored by Red Rovers in

8 league games. -
| Game 1 Game 2 | Game 3 Gome 4
Goals scored in home games 5 IS _ 2 6

1 2

Goals scored in away gomes| 4 | 5 | ;
7. What was the greatest number of goals scored in a game?

8. What was the least number of goals scored in a game?
9. What was the average of goals scored in home games?
10. What was the average of goals scored in away games?
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' Test 18 Data 1
»
1, '\f, ¥

What is their total weight?

5. Which is the most popular fruit?
6. Which is the least popular fruit?
7. How many like apples or oranges?

. 8. Find the average of those who
b .
like plums, pears or oranges.

q. Find the average of those who

like bananas, grapes or apples.
10. How many children are there
in the class?

#

!

&%

35' The total height of 3 flowers is 93cm.
"f‘ Find the average height of a flower.
2. The average of three numbers is 9. Two of the numbers are

8 and 12. What is the third number?
3. What is the average of 4, 6, 8, 10 and 127
4. The average weight of 4 girls is 25kg.

Answers /X

31

I 7
6

100 Koy

This block graph shows the favourite fruit of some children.
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) Total v '

) Start with the total and work backwards

3xqQ= 2%

Q12+ \=274
20+T1:27
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Revision

Round 46 872 to the nearest ten

From 27 687 take 2005.

What 1s the volue of the

)

 in 38 9657

Which is closer to 60 000: 61 700 or 59 100?

Add 40 to the sum of 80 and 70

12996 + 7 =

From the sum of 60 and 90 take 40

Gaoelic game attendance
AR N

doccer game attendance

Z(I(""

How many people in total attended the two games?

How many more people attended the Gaelic game than

the soccer game”!

i

P

PN

Maria 1s 10 years old, Jane is 12
3\(‘(1*'] IS «’»

What is the average age ot the (]H|\'

-~

and Deirdre is 6

Answers JV/X

LL 210
29 {31
306 660
54 \o0
140
3603
WO

3005
L

Total /
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Test 20 General Revision

. Is this (a) an obtuse angle. /
(b) a_right-angle or (c) an acute angle?

Sarah spent ; of her money buying this teddy.

How much money had she at first?

. (tof 24) + ( of 30) =[]

. Write 1-27 metres as centimetres.

’ Fiona had 48 stamps. She gave 0-25 of them to Jason.
How many did she give him?

. How many metres are there in 0-4 kilometres?

Sweets are packed in bags of 7.
How many bags are needed to pack 56 sweets?

’ ‘ 6 apples cost 72 cenl.

How much should 5 apples cost?

« Martin is 1m 58cm tall. Tom is 149¢m tall.
How much taller is Martin than Tom?

« This clock is 13 minutes fast.
What is the correct time? (pm)
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3. Write the missing decimal or percentage.
i (c) 0-8 = (d) 70% = (&) 7%=

(a) 23% = ® 0-90 =
F 7 [ F S X N NT R

4. What (i) fraction; (i) decimal and (iii) percentage of each of these shapes is coloured?

% i o

(i) - Fraction. S 3fs(i) Fraction (i) Fraction (i) Fraction
) De;imal g(ii) Decimal (ii) Decimal ) (i) Decimal
: (iii) Percentage (iii) Percentage 7 (iii)- Percentage _
— |



4145&)62/-3- -

3. Write the missing decimalo—rpercentage
(a) 23%— 023 : (b) OQO— ‘]b/ : () 08— 30 - (d) 70°/o- 0-7 (e) 7/0_00?

0 001= V% (@) Oh= 4D% (0 3%=0-02 () Ol= 10% () 10= 007

4. What (i) fraction; (ii) decimal and (iii) percentage of each of these shapes is coloured?

(a) E : (b) @ (o) (d) g

(i) Fraction %2‘ " (i) Fraction 2/5 - (i) Fraction %o‘ 7.,, (i) Fraction %
RON Decimal ~ ©-2 | (i) Decimal ~ ©0-4 (i) Decimal ~ O-1 = (ii) Decimal o5
' T:-Sentﬂge 20/. _f (iii) Percentage 42 (i) Percentage 107  (iii)- Percentage #57.

-

SoM ol ud/iow
3&> 23% ‘oo = 023 M/\é(fjdwwL@
3 b> 0-90 <10 = A0/ oe 0 A0 Yo = 0/
2h) 3% 100 = 003 an 02 00
* 160

P __——=— 1 29
Rl 5 5 | 2 1
on | w0 | 0 | || &)
pecimal Uik 2 oo |
| s ;
— 1 | 1
m 5% 99% [—
\-\-

mt in each of these groups.

Ring

1 ; .
) 10/0 001, 10 : (b) 100, 90%, 09 : (c) 06, 6% 1L T
VVVVVVVV i ) 00 dj — 04 40
- . 4 70, 04, 4%
" c0%, 05, 700 - %, 20%, 025 (9) 2 00 - ’
e ol " 006, 60%, 5

i — O

. : *
Calculating decimals and percentages (Change the decimal or percentage to a fraction first.)

0)20%01’15 _______ (b) 0-1 of 50 © (c) 50% of 22 (d) 0250f20  (e) 0-90 of 20
D 5% of 40 (g) 050f50 : (h) 75%0f28 . () 060f30 () 30% of 30

% «1m dod huue F cl«a;ge Hen 1o a Freactiown .

/f(wweoéfﬂ



this table.

lete
comple®®
[ 5 20 15/ Y| Ay T
fraction 100 100 A K‘/ Sl (o | %) y\ too
_ , —= | /u 6
Decimtll 005 |01 e _O"lq O-1 0\0:‘ 1% ﬁ 4/
[ ('] OO
puceege| 6 | 2V 1207 | 9% | 0% [ o °‘*
. 0,
/tnehfh kﬁéo/ 40/
, Ring the odds':; o j O oo, 9roups. (0ten fo
o 0% ® (g %0% 09 <c>.6%, % oL

@ 755, 7/0@;/

(d) 0 04‘ok

707
ol
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Calculating decimals and percentages (Change the decimal or percentage to a fraction first.)
(a) 20% of 15 (b) 0-1 of 50 i () 50% of 22 (d) 025 of 20 (e) 0-90 of 20

0 5% of40 . (g) 050f50 | (h) 75%of28 ;“z'.')“oeof:«;o () 30%of30

p e




3a) 204702

INY

~0-2

3.0

3T

30

>~ 06

) 8

O

ZL) 50 ) 8D/-05 M) 9p
Fol 0' 22 = 025
Se 0 = 0§ (o Ne!
_ + { OO0
1O
500
2F> S/=005 36) 50 34) 23
= 05 ~ 015
40 250 %0
x : ~19 €0
005 o o—
20 o

35} 30/ =63
20
~ 03
-0

2. Solve the following.

(a) 20% of 100m

(d) 37% of €1

(g) 80% of 1km
() 30% of 10cm

(¢) O-1 of a litre
() 075 of 2kg
(i) 50% of 1 hour

(b) 5 of Tkg
(e) 0-6 of €200
(h) 25% of 1 litre

(k) O0-1 of an hour ()] % of a metre

3. Fun facts

(a) 5& o! |reland's population

is children aged between O

(b) In the USA, children spend,

and 14. If 45 million people
live in Ireland, how many of
them are:

(i) children (0-14)?
(i) over 14?

on average, 0-25

of the full day online.

(i) How many hours
is that?

(i) How many hours are
left for sleeping, school,

etc.?

r(c) A cheetah’s top speed is
120km per hour (120km/h).
An Olympic sprinter can reach
40% of this speed. What is
the top speed of an Olympic
sprinter in km/h?

———

p
(d) A blue whale calf can weigh up to z'm

at birth. The average adult man

0-03 of that amount. (i) How much 60

the average man weigh? kg

(i) What % of the calf's weight would $°¢

men weigh?

M e



2. Solve the following.
(a) 20% of 100m ZDmi (b) %of kg 5000, (c) O-1 of a litre 10w
(d) 37% of €1 97  (e) 06 of €200 €120 () 075 of 2kg 1%

= 20
L B ‘"‘:
*'.d

() 80% of Tkm % (h) 25% of 1 litre 270mi: (i) 50% of 1 hour 36w .\4‘
() 30% of 10cm 3&-: (k) O-1 of an hour “‘"’“i (D -1%% of a metre 30-[:: > E

x1 p
-1 Y |
7

3. Fun facts
= \ (-
(a) 20% of Ireland’s population (° ) | (b) In the USA, children spend,
is children aged between O ’ on average, 0-25
and 14. If 4-5 million people | ' of the full day online.
live in Ireland, how many of (i) How many hours
them are: | is that?
(i) children (0-14)? O-9 | (ii) How many hours are
(i) over 142 Y. 6 left for sleeping, school,
etc? |Q
o = o- —
; 1 (
' (© A cheetars top speed is (d) A blue whale calf can weigh up to 270%
120km per hour (120km/h). at birth. The average adult man weighs

An Olympic sprinter can reach
40% of this speed. What is
the top speed of an Olympic
sprinter in km/h? 4%

; 0-03 of that amount. (i) How much do&

the average man weigh? K| ke
(i) What % of the calf's weight would ¢

; men weigh? S§+ -
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mused 40% of a bag
2. of flour to bake baguettes.

if he used 600g, how much
flour is in @ fullbag? g

30% of the children in

a class are 10 years old,

The other 21 children are
11 years old. How many

children are there in the

class?

————————————

;. Mary walks 20% of the e
journey to school and gets APt
a bus for the rest of the way.
Her total journey is 2-5km. How far does
she travel on the bus? km

—————————————

3. Gillian scored 0-75 of the
frees she took in g camogie
match. If she took 16 frees
altogether, how many did
she miss?

0-7 of the hens in an enclosure
¢ are grey. If there are 63 grey
7 hens, how many hens are

there altogether?

1. 90% of the apples in
a box are red and the
"eSt are green. If there
are 72 red apples,
how many apples

- re there altogether?




AVOWU/@

|
|

/"’—d—zo% of a ba

ker use 9

2 Aftf,[aour to bake baguettes.
;he used 600g, how much
four is in a full bag? 1500 g

30% of the children in

The other 21 ¢ ildren are

11 years old. How many
children are there in the

class? 30

40/, = 4005
Yo is 4005
Flte + Qule

‘%1 = 4 &bba
150
= 10

15004

1007/ wltal » 20+ ae 0 sl 709 ae I,

a class are 10 yearsold. L= #0r-2t =W % i 2

(pip + aule)

57, Fhthns by by

L2
3
=10

30 (w Ve \am

marg walks 20% of the
journey to school and gets
a bus for the rest of the way.
Her total journey is 2-5km. How far does
she travel on the bus? ) km

5. Gillian scored 0-75 of the
frees she took in a camogie
match. If she took 16 frees
altogether, how many did
she miss?

(<A
(30%.2 0.5)

’Souv.wﬂ = IOO‘/ 20/:1,.)4,\& s 30/ - &us

Q‘S()Dm = 106V, BLLS = QO‘/

307 of 2 500, - Rus

290 0-0.= 2000u o 2hua.

Tk b
\é Seona] - | 2

x 0185 Ged) T

T o
1] *2 o /

120 O

6. 0-7 of the hens in an enclosure
are grey. If there are 63 grey
hens, how many hens are
there altogether? 90

7. 90% of the apples in
a box are red and the
'est are green. If there
are 72 red apples,

oW many apples

0-F= e = :%0 iséz
(FHF v oeule ) '

are there altogether? H30) (et~ ‘S>

S ——

Yo e d 3
(Flip el a
’O/q N 30 qm’lw
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Aust'ralia is home to many unusual and exotic animals and birds that are found nowh
else in the world. Originally Australia was attached to Asia and Antarctica but becau -
se of

rising sea levels it became an island. Due to this isolation, animals and birds over tim
forced to adapt to their environment and developed their own unique forms S
Other animals like sheep, horses, cattle and goats are not native to Australia and we
re

brought in by European settlers.

The Satin Bowerbird

lia. Prior to mating, the

The satin bowerb

ird is unique to Austra

s like a large upright nest

eccentri

¢ male builds a bower that look

then steals things that are blue to

of twigs, on the forest floor. He

decorate the bower — fea
key rings — anything he can
his love nest as attractive as
'~ passion for all things bl

thers, berries, bottle tops, MONEY, pens,

ue. The more impressive the bower is, the

find. The naughty bird needs to make
possible to the female, who has a

mate

more attracted she will be to the male. She will choose her

based on his home-decorating skills!
L —

The Kookaburra

AlthOUgh am .

cat fish. It “vejr:;b\f,r of the kingfisher family, the kookaburra does not |
snakes, rodents and?OdlandS and forests, feeding mainly on lizards |
human laughter, it islzzer;ts. “EeRusERGiES Joud Cue whih resembie i
The famous chor monly called a ‘laughing j ’ |

. : g jackass'.
the kookaburra n:;: Olfalaughter is heard at dawn and dusk. It is said that
y laugh along with a man in good spirits or laugh

mockingly at a ;
ma i
i ey [is foolishness! It is also said that the bi
g of imminent rain or danger! at i g
- r!

The Lyrebird
Lyrebirds are beautiful Australian birds. About the size of a

chicken, they seldom fly, although their wings help them to run
and jump up into low branches to roost at night. The lyrebird is
well known for the male’s unusual tail, which looks like a lyre —
an ancient musical instrument, played like a harp.

Lyrebirds are also great mimics, well able to imitate man
sounds like those made by dogs, cars and even chainsaws! d
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alldln plack

The bl ' e
ack swan, th
e .
lakes and ri ’ L '
rivers all over swans, is found around

th Australi
the ‘S’VOF'd, all are pure white ae"a- Of the seven species of swan in
- the South American p| xcept for the Australian black and



R ——————— Comprehension
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This Australian species has bla NS
ck feathers with white flj r ;
e ight feathe i :
:‘vr:ﬁslo;z tt:::uor fll.lfght feathers after breeding and are unable to fly for: :tr::uat : s l’: e
r ;
Ite and, should one die, the other lives alone for the remainder:'g;1 :ts.I?eaCk

The b
lack swan features on the flag and coat of arms of Western Australia

1 Was Australia always an island?

2 Are shee ive to Australia?
3 What i

at iS the llf e satin owerbird’s favo
5 E vhat O MI ookaburra kKnown/

Appearance Food

Habitat Bird/Mammal - Habits

Home Other Interesting Facts

- ® Make mind maps about other things that interest you.
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